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PAPER 1-GENERAL STUDIES AND ARITHMETIC

Time Allowed — 2 Howrs Full Marks — 100
Group A-S0 Marks
Group B-50 Marks

& Genenal Instractions for All Candidates,

Steps in arriving at the answers i Anithmatic & Reaxoning questions must be
shown cleany in the spaace provided in the answer booklet,
Failing to mention the steps Will be liable to deduction of marks,

Answers may be given either in English or in Bengali or in Nepali only.
Buz all the answers must be in one and the same language. In case of any doubt or discrepancy,
the Board will rely on the English version only.

Grour=A [GrNErAL STUDIES]

(1) (1) Name the highest point of Chhotonagpur Plateau, 2x06=12

(TN VTSR FES [ (R0 ¢
ST e TAN= S W § 82

(i) Kulik Bird Observatory is situated in which district off West Ben gal?
< SFRPREII ARSI G (SN wdRe
T el STV Wi S e Srafed w7

(iii) The books ‘Dansagar’ and ‘Adbhutsagar’ had been written by whom?
TR S WESA A {oA RS
e S TRV el el e e frg?

(iv) Who used to be regarded as “The Mother of Indian Unrest'?

S [REET Tl IS 60 Lo
¢ sy s FeufiER s SEEE WiED?
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(V) Where is the headquarters of Amnesty International located?
Amnesty International-9% 373 #e3 (IN SRES ¢
Amnesty International Y JEIETT Fi1 arafter 97

(Vi) Who first observed the presence of Nucleus in a living cell?
(IR Taenfae e @i FERFmer SR wiiwm s
T TR Ve ARG WUR H5 W W] TIH1 SHTTeh 1w forg?

(2) () Inwhich year Jallianwalabag Massacre took place? The protestors assembled at Jallianwalabag
in protest of which Act? 4x5=20

GRS T 3 it Heele Tt ¢ @i SR et aifermeataams afeaia
RS AR ¢

ISR IEEIGIE NN Cov e F |rer weh fow? fRliyeries 4 # T fIegA Seameremsmy
el W f?

(i) What is the colour of chlorine gas? Write down the chemical formula of Ammonia.
= T N 0 = 7 SR TR s R |
FAN T 1 Fwll g2 ST et 9 ey |

(1ii) What is the S.I. unit of displacement? Speed is an example of which quantity?
PSR, AETTS AT 935 2 & (speed) (o1 e A Srzael 2
feremeTahl S.1. T 3 812 7R (speed) T W SeTew @17

(iv) ‘Dholavira’ the place which has been included recently in the world heritage list of UNESCO, is
located in which state? Where is the headquarters of UNESCO located?
UNESCO-¥ World Heritage list-4 1 ®[@g@ ‘Giefear @ 1icey iz 2 UNESCO- 77
T (PR S1Ze ?

UNESCO 1 World Heritage list-H1 2ot wnfier TReb!  efiefi’ %5 Ty vafier 372 UNESCO
I AT @l STafeed 57

(v) Famous Lawn Tennis player Novac Djokovic belongs to which country? How many tournaments
in Lawn Tennis are regarded as Grand Slam?
2IIS T (BF Sl (IS Srifes (I (s Sifai 2 o Gt soafy sfvaifiems wis
N A0 Sfofze 41 g3 7
WG T T Gerg! e Siehiferst F < A=< g1 ? T o e sehfier ‘wmwe
AW g Aifs?
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(3) (i) In laboratory which component is used as catalyst to produce Oxygen? What is the name of

solidified Carbon dioxide gas? Write down the chemical formula of Methane. 6x3=18
AR R oTS S5 sl P IS T ¢ A CO,- R 71l 27 7 Fereva e

T |
mﬂmﬂﬁﬁﬁmﬁwﬁmmmm?mmd?mm
TR W & §7 A S vEmEf g oeEy |

(i) Kalahari desert is located in which continent? Loess is an example of which kind of land form?
In which kind of rocks presence of fossils are observed?
IR SRS (R TR SRS ? AR (Loess) (P 4504 SenCst SaIRdd ? (I 4TS
ety S oS (rire et IR ?
FIETER Foyfi 1 Hereur! sTafeyd 87 '@y (Loess) 641 1 TR T el IaTel
12 i Wbl ST S I-57

(iii) Who wrote ‘Srikrishnakirtan’? During medieval period who was the most renowned emperor of

Bengal? Who founded Vijaynagara dynasty?
DTS @ A1 2 T A (b T fegeT 2 et ASET Ao P

I ?
‘Mﬁ'ﬂmwﬁﬂmfm?wwwmﬁ%mﬁfm?mwmﬁi

TTYAT FHeT T fou?

Grour-B [ARITHMETIC & REASONING]

ARITHMETIC
5x5=25

(4) One man, one woman and a boy doing a work together got a wages of < 4,935. The man, the woman

and the boy worked for 6, 5 and 4 days respectively. If every day they have worked in the ratio
of —:-1—:—]6— how much wage each of them would get?

G A, GG JAT ﬁWWﬂWWWHSSWWﬁMﬁiW 6 =, B
5 i ¢ AT 4 fi 91 e | 17 9T T ATS 3 la;ca & T TG A

T3 mmaﬁwmﬁ#ﬁmstsaﬁmaﬁaﬁmmmlmm Hfgen a1fa

St 6. 5 1 4 ot s e e P e A T 2 o ST O R o, e

ST i B 987 37
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yur wages) ol an ar\ﬁclc is 3 tim
als and labour wages increased in the

Z 810, What will be the selling

es of the cost

(5) The Production Cost (i.c. cost of raw materials and labc
of the raw materials needed to make it. The cost of raw materi

\£ ratio of 5 : 12 and 3 : § respectively. Earlier the production cost W
N

\C price of the article to get a profit of 25%7 o
3 ¢sel | ST 719

Haa ' f @ W5l a1an) 7 G G STl w1l ST 3
< R " : m@aﬁmmﬁ'ﬂsmﬁmn

5 12 Sl 3 (oA G0 TGfA 3 ;5 TATS 3% (o171 | G T SR A
a2 62 il e Srm Rfe 3w 25% #1e LAt

vz afir SR @ (Fn vad A afn @) ST T T @ T 3 T S T
v T HTFEE 5 lzﬁﬁ3:5ﬂa@mmm|qﬁwwaﬁgwsmaﬁﬂfw|m

@ e e T fafi T 9, 259% B A T D2 .

Man do a piece of work in 9 days and B can do the same work in 18 days. They started the work
\(J 05 together but 3 days prior to completion of work, A Jeft. Tn how many days the work had been

g
/L’ completed?

/'L\mi%wmﬁmws 18ﬁmwwm|wam¢r@wwﬁ=@¢wﬁmawsﬁn
*‘7\%4 M| A BT (oFFT | 6% Prb Fefie (43 2t 2
Q

-

A € T H 9 T T T 9, B @ ) i 18 T T | QAT R e T W JE TR W
T g 3 faA et A < e | @ F g g et T eme?

as

(7) The amount of interest earned on a principal at 4%% interest per annum for 2 years and 4 months is
% 63 more than the amount of interest earned on the same principal amount at 5% interest per annum

for 1 year and 9 months. What was the principal amount?

RN AT RS 5% T 1 727 9 G (3§ 77 T, 62 JAdeTa A 4%% I 2 7% 4 WG O
(2T 63 Bl (@ 77 2 | AT AAfe T e

F TEe JerdH Ufd a4 5% <Xel 1 99 9 A 7 S FAED W, el HeruTH ufd a9 4%% T
2 =4 4 HigATH FHITH <ATeTH T 63 Tt Sl g | Jereehl afiaT shfd 217

(8) In three equal glasses there is a mixture of milk and water. In first glass milk and water is in a ratio of
3: 1, in the second glass the ratio is 5 : 3 and in the third glass the ratio is 9 : 7. If the mixtures of three

glasses are poured into a bowl, what shall be the ratio of milk and water in the bowl?

fomfl i 211 w-fafere g Witz | 2i9w 201 74 BT A 3 1, TS 41T S ;3 @32 g
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(9) Mo wuraf# Wit ata Aoy eira enalng Gan i o 25=10)
AL O, e 1 el qareia sufane fooran fem sy meq ac) aited |
() 1), D05 Qe #lies] ey wijewe |
(1) €, A5 Q] #liee] e wiires) g - v #l1ea Ao 2 )
(©) A, B-aet [ difieen ar) wiige |

() 15 (IR It a0 i ¢
() F-aq o diffen 9
(h) A Qa8 B-@it SaIe |
AO D il el gaboe |
() C-an B el 2o |
() A @l Ay
@) A, E-aa difics e gaivee @it |
B, C-q llfics @8 galee vite |\~
(©) C, F-aq dificw fadh gilbee e |
(d) D, E-aat wrfics 8l gafee e |
i) MN5A (@D oPIe ¢
(0) C, E-ag @ Gl it | T
(b) T, D-471 @awsl wlafics e | v
(¢) D, B @ GlAfiee e | v’
\/w) A, C-ad <) A eIt |
(iv) ANoo4 (@l (ee-a4 oo e eles afen foe qifie TR ?

(a) CA
(b) BF
(¢c) DE

AT BF

(v) ApA @l (@IE-a4 uf wfera e @I SFe 0 e ¢
(a) BE
A5/ DE v
(c) AB
(d) CD
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1.5%5=7.5
(10) =pres Bz Fiwa et fefa 3 ¢
+ O a2 7 14
198 W+ 3 4 5

594
75 165 ?
'9\7( 2 | 66

3< L AAN

(v) 5.11,24, 51, 106, ? ¢ 5
(11) A.B,C,D, E,Faa\Gmewwwwaﬁthﬁaﬁw gt e, e,
m 2 (THAT e SR 7€ ZS AE) | FHroew @b (@A Sigeiaizel
© W o [ e g9 - @ «@wi‘%ﬂ W _tﬂE , S «@3e
ﬁﬁﬂ\ng\m (Tita (PeT THRPIITE -8 TS 2ZA) | 2-5x3=7-5
(a) NI SGIAT Sal #10y o= |
(b) SgieiF D M sifsamt |
(c) Tl C ffera 2l @3 srererg Roses |
(d) wEpi=iE B 2o Al wrwHiiced f[oeiae o | @
(e) BT A TLfaifoq e fog ZmwRms SEam =4 |
() e F ifced Roae Sieiea S |
() TGP G #AfRIA *iead fKiedaee oaiREs s

(i) SUleTa Reore 2
B (b) D
() E (d) Ttz =t @a 71 |

(i) TLATex fRevae sapieis @ *2@a A 2

(a) TIGRM ub/@i‘

(c) TYTERM A THI FIADIFD 7 (d) T =1 71e< 73|
(i) FEen™ Ty @ AQRITT A 2

(a) B V({E

(c) B 993! E-49 W& (F6 7 | (d) T 1 7@ 73|




PAPER Il — ENGLISH

Time Allowed - 1 Hour Full Marks - 50

1. Study the information below and write a newspaper report (within 100 words)on a

severe earthquake in Tokyo. 10

5t May, Saturday, Tokyo, 10-28 A.M- strong earthquake in Tokyo and its
neighbourhood-5.5 on Richter scale-epicentre,southern part of |baraki prefecture-
intensity of earthquake 3 at Tokyo, 5 at Gunma and Tochigi prefecture-Bullet train

services suspended.
Or
Write a precis of the given passage and add a suitable title to it.

General Washington, President of the United States of America, had o friend who
had fought with him tn the war against British and was almost his daily companion. A
lucrative office. In the gift of the President, chancing to fall vacant, many thought that
this gentleman would have on difficulty in obtaining it. Another candidate for the post
appeared. He was a political opponent of Washington. But a man of decided honesty,
and of great talents for business. Everyone considered the case of the second man
hopeless. But, to the surprise of all, the opponent of Washington was appointed to

the office.

2. Translate into English : 2X10
(For candidates who had opted for Bengali)
() OO & FFIT O A |
(b) ~If5Te A6 &7 ¢T Twa< feT |
(c) A% T fmcafesT (@ &7 A
(d) =nfr @12 Tt A wife =
(&) TECP (T GfGR TS Al 1 |
() 5o, S8 A F TS |

(g) 2-T¥R = OIF gy TAR |



(h) *rSF TS ATTTS G QTR |
(i) SIS @ qRetett fReeafRetiy eTeta §f¥ =03 itz |
(j) fiy wrete werrs A 1 |

3. Make sentences with the following words to differentiate them in meaning feom each

other: 2X5=10

(a) Accept, Eecept (b) All together, Altogeter (c) Descent, Dissent (d) Loose, Lose (e) Quite,
Quiet

4. Write the synonyms of the following words: 1X5=5
(a) Carcass

(b) Confess

(c) Eternal

(d) Rare

(e) Resilient

5. Substitute the following phrases by a single word that best illustrates its meaning: 1X5=5
(a) One who knows or sees everything

(a) One who does not believe in God

(a) Incapable of being seen through

(a) Destitute of knowledge

(a) Contrary to law



RBSI(FWE)/P-111/2022

2022
PAPER ITI—BENGALYNEPALI/HINDI/URDU

Time Allowed — I Hour Full Marks — 50

Use the alphabets X, Y, Z in place of name, address etc. if necessary.

(For candidates who had opted for Bengali.)

1. s ee smuf anm o weien thie RRmER O SRS 200 =t @3 féra a5e e
30

©IRE G g

TS 158 Wb, cora SB1— IwiF 8 (IAE-93 TRIN— T (5 €@ e GR— WA
siffeTe— @ atizrer 7ff G TR — e T S 21 @ syrerens G S < wiizApre—
40 =9 TT FS] WZS— 2 GF-9F TP TG ST Ste— 15 T A B AP
HGIGAI— ZIH WS BaE Fa— AAE! WucE e A, T e e By aReifEs
R A THFH ol |

(For candidates who had opted for Nepali.)

Frofefea wemar wam TR w3 sfag v arft 200 w8 S faaor ey |
WHT: WA & gole
wRM: 15 A fog 5 Ifa— wenR T Ay Sem— = and 3 T aE el S e
FETE S FRO— T3¢ o i fewee vse w2im— o aed 1 2 92 T 96 9899 5 =5
e Yo veiiaa fetdl— 40 I6TEE THETs UIsd swei— 2 S A e sTeH S
A GY— 15 S TEEE T T T 3— Y Sif=Ees 3ER T— wEvEn
gfer, T gferw 8 SDRF &1 sHarizes! ISR #4 e 7= |

(For candidates who had opted for Hindi.)

Frafafis Tl 1 39T +4 TU O Al 3 % AT 200 w=ii | v yivdes g
T A & g
w15 A m:sﬁ—wﬁﬂﬁ%ﬁﬁﬁaﬁwmim@qﬁmww@%m_
ﬁmﬂﬂﬁm#—wﬁw-w&mﬁmmﬁawhmmﬁam@
TR YT % 5 ek -2t A S 40 A T T Y T — 2 T o v s
I g — 15mﬁﬁaﬁm=ﬂaﬁﬁrﬁaﬁﬁmﬁm—wﬁﬂﬁnﬁm~mm
Ffers, Turra Y T A Ted A9 F A Y a9 s e |
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(For candidates who had opted for Urdu.)

_ufﬁ_i,;;,:é]_.zixlél.;ﬁmx"" _Qﬁ;sulfzm L::LJUWW’.:—:@E':{L-’JJ.U

s atStinLidr
=l i
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(For candidates whao had opted for Bengali or Nepali)

2. et WA @S WA e 8 2x10=20

(i) I suppose it is better than going to the police or court,
(i) Take care of your studies, or you will fail.
(iii) Give yourself a quarter of an hour and walk gently.
(iv) What a beautiful sight!
(v) They found for giant lying dead under the tree.
(vi) Please give me a glass of water.
(vii) How could this man bea teacher?
(viii) How selfish I have been!
(ix) 1asked him this question,
(x) He lives here with his mother.

(For candidates who had opted for Hindi.)

Translate into Bengali :
(i) T2 T & 5 T e St s W { S T
(if) = Teré W A § A A e § e |
(i) F A9 1 7 s o e am & ud iR e
(iv) e g g ¥
(v) TR T 38 F A T v
(vi) ¥ 78 o frens 5l
(vii) TE 3T e & B weFa §2

e e e oy

B —— -

e AL

B T e L e e 11 1
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